FHTEE 2H#RAKEOKERE

6 A&

K = 4 = Il = I ®= IR
X A A =] el [=[==1]]] ol
A ANICE ANICE ANIALE ANIALE
7 HEM AL INR)INFE t—faE TRAE BEKE
AEH A —F 4 5 11 58
% # B &£ A B (E/H/E) 2025/6/18 2025/6/18 2025/6/11 2025/6/18
7K # B OB ZW(E L 9BF40%> 11853093 10850043 1085535
# W & B TRl TRl Bl Y i
Bl & W K E (m 05 05 05 05
Bl X 3 Eh BN INES BN
]l = B (C) 343 374 226 37.7
El K B2 (o) 285 315 227 323
B & iz XS XS B e
B 2 ] me me me me
e 15 E  (cm) 66 76 38 100
pH 75 75 7.4 7.3
= DO (mg/1) 7.3 8.0 8.4 9.2
Rz BOD (mg/I) 17 24 5.7 14
= CcCoD (mg/1) 5.0 5.2 6.2 42
SS (mg/1) 5.0 30 40 40
g % X B B (cruiom 28 220 280 68
Bl & = x (mg/l) 14 1.7 1.9 13
g £ L) A (mg/l) 0.14 0.14 0.21 0.22
£ g ] (mg/l) < 0.01 < 0.01 < 0.01 <001
2 A F =2 9 L (mg/) <.0.0001 <0.0001 <0.0001 < 0.0001
B £ (mg/1) <001 <001 <001 <001
- N i 4 B L (mg/l) <0.05 <0.05 <0.05 <0.05
fitt % (mg/l) < 0.005 < 0.005 < 0.005 < 0.005
: # 7K R (mg/l) < 0.0005 < 0.0005 < 0.0005 < 0.0005
z 8 (mg/1) <0.01 <0.01 <0.01 <0.01
B O M & (mg/D) 0.06 0.07 <001 0.02
g Pl mmiE<s Ay (me/) 0.06 0.08 0.03 <0.02
w| EEHAA > (mg/D) 105 224 3510 58.9
T X = 8 FE (mS/cm) 0.4 0.3 9.6 04
] ToC (mg/1) 28 3 34 2.2
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